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Marking Scheme 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination, 2025 

SUBJECT NAME  BIOLOGY (SUBJECT CODE 044) (PAPER CODE 57/2/3) 

 

General Instructions: - 

 

1  You are aware that evaluation is the most important process in the actual and correct assessment 

of the candidates. A small mistake in evaluation may lead to serious problems which may affect 

the future of the candidates, education system and teaching profession. To avoid mistakes, it is 

requested that before starting evaluation, you must read and understand the spot evaluation 

guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in any 

manner could lead to derailment of the examination system and affect the life and future of 

millions of candidates. Sharing this policy/document to anyone, publishing in any magazine and 

printing in News Paper/Website etc may invite action under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be 

done according to one’s own interpretation or any other consideration. Marking Scheme should 

be strictly adhered to and religiously followed. However, while evaluating, answers which are 

based on latest information or knowledge and/or are innovative, they may be assessed for their 

correctness otherwise and due marks be awarded to them. In class-XII, while evaluating two 

competency-based questions, please try to understand given answer and even if reply is not from 

marking scheme but correct competency is enumerated by the candidate, due marks should be 

awarded.  

4  The Marking scheme carries only suggested value points for the answers 

These are in the nature of Guidelines only and do not constitute the complete answer. The 

students can have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each evaluator on 

the first day, to ensure that evaluation has been carried out as per the instructions given in the 

Marking Scheme. If there is any variation, the same should be zero after delibration and 

discussion. The remaining answer books meant for evaluation shall be given only after ensuring 

that there is no significant variation in the marking of individual evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be marked. 

Evaluators will not put right (✓)while evaluating which gives an impression that answer is correct 

and no marks are awarded. This is most common mistake which evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks awarded 

for different parts of the question should then be totaled up and written in the left-hand margin 

and encircled. This may be followed strictly. 

8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks should 

be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only once. 
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11  A full scale of marks 0-70 has to be used. Please do not hesitate to award full marks if the answer 

deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every 

day and evaluate 20 answer books per day in main subjects and 25 answer books per day in other 

subjects (Details are given in Spot Guidelines). 

13  Ensure that you do not make the following common types of errors committed by the Examiner in 

the past:- 

● Leaving answer or part thereof unassessed in an answer book. 

● Giving more marks for an answer than assigned to it. 

● Wrong totalling of marks awarded on an answer. 

● Wrong transfer of marks from the inside pages of the answer book to the title page. 

● Wrong question wise totalling on the title page. 

● Wrong totalling of marks of the two columns on the title page. 

● Wrong grand total. 

● Marks in words and figures not tallying/not same. 

● Wrong transfer of marks from the answer book to online award list. 

● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 

incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should be 

marked as cross (X) and awarded zero (0) Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totalling error detected 

by the candidate shall damage the prestige of all the personnel engaged in the evaluation work as 

also of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated 

that the instructions be followed meticulously and judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot 

Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title 

page, correctly totalled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the 

prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once 

again reminded that they must ensure that evaluation is carried out strictly as per value points for 

each answer as given in the Marking Scheme. 
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MARKING SCHEME 

Senior Secondary School Examination, 2025 

BIOLOGY (Subject Code–044) 

[Paper Code: 57/2/3] 

     Maximum Marks:70 

Q. No. 
EXPECTED ANSWER / VALUE POINTS 

Marks Total 

Marks 

 SECTION—A    

1 (D) / Autogamy but not Geitonogamy  1 1 

2 (D) / I-Spermatogonia, II- Sec spermatocyte, III-Spermatids, IV-Spermatozoa 1 1 

3 (B) / (iii), (i), (ii), (iv) 1 1 

4 (B) / Francis Crick 1 1 

5 (D) / 7,8 1 1 

6 (B) / (ii) and (iii) 1 1 

7 (D) / (a)-(i), (b)-(iii), (c)-(ii) 1 1 

8 (C) / Father-IBi, Mother-IAIB, Child- IAi 1 1 

9 (B) / Decrease in antibodies   //    (D) / increase in antigens 1 1 

10 (B) / 0 : 1 : 3  1 1 

11 (D) / Plasmid DNA acts as vector to transfer the piece of DNA attached to it. 1 1 

12 (A) / Aspergillus niger 1 1 

13 (A) / Both (A) and (R) are true, and (R) is the correct explanation of (A). 1 1 

14 (C) / (A) is true, but (R) is false. 1 1 

15 (A) / Both (A) and (R) are true, and (R) is the correct explanation of (A). 1 1 

16 (C) / (A) is true, but (R) is false 1 1 

 SECTION B   

17 (A) 

- Vallisneria- Female flower reaches surface of water and male flower or 

pollen grain are released on the surface of water. 

- Zostera- Female flower remain submerged in water and pollen grain are  

released inside  water. 

OR 

(B) 

Pollen release and stigma receptivity are not synchronised , anther and 

stigma are placed at different positions , Self incompatibility , production of 

unisexual flowers 

 

 

1 

 

 

1 

 

 

 

 

 

½ x4 

 

 

 

 

 

 

 

 

 

 

2 
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18 (a) Autosomal recessive trait  

Normal carrier parents / Heterozygous individuals , transfer defective gene to both 

male and female progeny producing affected individuals or homozygous recessive 

individuals                                               // 

 

(b) Sickle cell anaemia / cystic fibrosis/ Phenylketonuria/Thalassemia / or any other 

example                                                                                           (any one) 

½ 
 

½ +½ 
 
 
 
 
 
 
 
 

 

½ 

 

 

 

 

 

 

 

 

 

 

 

2 

 

 

19 

(A) 

-In case of snakebite, quick response is required as natural production of 

antibodies will take more time therefore preformed antibodies against the 

snake venom are injected.    

-In tetanus, preformed antibodies are directly injected because quick immune 

response is required against deadly microbes.  

                                                               (or any other relevant example)  

                                                                    OR 

(B) The symptoms do not appear immediately as parasite initially multiply 

within the liver cells, and then attack RBCs, resulting in their rupture and, 

release toxic substance haemozoin. 

 

 

 

½+½ 

 

 

 

½+½ 

 

 

 

 

 

 

½ x4 

 

 

 

 

 

 

 

 

 

 

 

 

2 

 

 

20 

(a) Bacterium Thermus aquaticus 

 

(b) It remains active in high temperature during denaturation process of PCR 

1 

 

1 

 

 

2 

21 The plots with more species showed less year to year variation in total 

biomass , Plots with increased diversity contributed to high productivity 

 

1+1 
    

 

   2 

 SECTION – C   

 

22. 
(a) Copper releasing IUDs release copper ions that supress sperm motility, 

Supress the fertilising capacity of sperms, increase phagocytosis of sperms    

                                                                                                                 (any two) 

                                                                                                           

(b)The oral pills inhibit ovulation and implantation / It alter the quality of cervical 

mucus to prevent or retard the entry of sperms.  

 
 

1+1 
 

 

 
 

1 

 

 

 

 

 

 

 

3 
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23  
(a) 3200 male gametophyte 

 

(b)  

- Intine made up of cellulose, and pectin. 

-  Exine made up of sporopollenin.  

 

1 

 

 

 

½+½ 

 

1 

 

 

 

 

 

3 

 

 

24 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

(Correct diagram with labelling or correct explanation with diagram to be 

considered) 

 
 

 

 

 

 

 

 

 

 

½ × 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

 

25 

 
 

 

// 

 

 

 

 

 

½+½ 

 

 
 

½ 
 

 

1 

 

½ 
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½+½ 

 

 

½ 

 

 

1 

 

½ 

 

 

 

 

 

 

 

 

 

3 

 

 

26 

 

 

 

(a) Sportspersons abuse certain drugs to increase their muscle strength and 

bulk and aggressiveness for better performance in sports. 

  

(b) Cocaine/coca alkaloids , cannabinoids , any other correct example 

                                                                                                          (any two) 

  

(c) Erythroxylum  ,  Cannabis ,any other correct example 

                                                                                                                 (any two) 

 

1 

 

 

½+½ 

 

 

 

½+½ 

 

 

 

 

 

 

 

 

 

    3 

 

27 

(a) Cry IAb 
 

(b) When the inactive protoxin is ingested by the insect, it is converted to its active form 
by the alkaline pH is the gut which solubilises the crystals,  the active form of the 
toxin binds to the surface of the midgut epithelial cells, creates pores that cause cell 
swelling and lysis and eventually cause death of the insect. 

1 

 

½ x4 

 

 

 

 

3 

 

 

28 

(a)    -‘x’ is Insects  

        -‘y’ is Molluscs  

(b)    -‘x’ is most species rich taxonomic group  

              -more than 70% of the total animals.  

(c) 

(i)   Ecological diversity  

       (ii)    Genetic diversity 

 

½ +½   

 

 

 ½ +½  

 

 

½ +½          

 

 

 

 

 

 

 

 

    3 

                                               SECTION-D   

29 

 

 

(a) B-lymphocytes ,and T-lymphocytes.  

      (b) Because the antibodies are found in the blood hence antibody-mediated 

immunity is also called humoral immune response.  

     

 ½ +½          

 

1 
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 (c)   

(i) Our immune system is able to distinguish between ‘self’ and ‘non-self’ 

cells/molecules.  

(ii) Cell-mediated immune response , T-lymphocytes are involved. 

OR 

(d) 

             Active immunity  Passive immunity 

When antibodies are produced 

by B-cells within the body. 

Preformed antibodies are 

injected into the body for 

defence 

It is produces comparatively 

slow response 

It provides quick response   

 

 

 

1 

 

 

½ +½ 

 

 

 

 

 

 

1 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4 

30 (a) DNA -dependent RNA polymerase 

  

(b) B-coding strand, A-Template strand 

 

 

      (c)  

- C is promoter, it is the sequence of DNA where the enzyme DNA 

dependent RNA polymerase binds for initiation of transcription. 

- D is the terminator, it is the sequence of DNA where the process of 

transcription terminated. 

  

 OR 

(d)  

- C is located towards 5 end (upstream) of coding strand 

- D is located towards 3 end (downstream) of coding strand 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

½+½ 

 

 

 

 

½+½ 

 

 

½+½ 

 

 

 

 

1 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4 
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 SECTION E   

 

 

 

31 

 

 

 

 

 

(A) 

 
 

 

 ( 1 mark to be awarded for the correct schematic representation of oogenesis, ½ 

mark each for the correct number of chromosomes at each stage and ½ mark each 

to the life phases of the individual with the correct stages of the process.)                                   

 

 

OR 

( B )  

( i )  

Autogamy –  The transfer of pollen grains from the anthers to the stigma of 

the same flower. 

Geitonogamy – The transfer of pollen grains from the anthers of flower to 

the stigma of another flower of the same plant. 

 
 
 
1 
 
 
 
 
 

½ × 4 

 

 

 

 

 

 

 

 

 

 

 

 

½ x4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

1 
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Xenogamy – The transfer of pollen grains from the anthers of a flower to the 

stigma of another flower on a different plant of the same species 

 

(ii) 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

½ x4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 

32 
(A) 

(i) A bacterial cell is made competent by treating it with a specific 

concentration of a divalent cation such as calcium, which increases the 

efficiency with which DNA enters the cell through pores in its cell wall.   

 (ii)   

-Denaturation , DNA is heated to a high temperature resulting in the 

separation of two strands of DNA 

-Annealing , two primers are annealed to each of the single-stranded 

template DNA.  

-Extension , enzyme Taq polymerase extends the primers using the 

nucleotides provided in the reaction and the genomic DNA as template. 

// 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1+1 

 

 

 

½+½ 

 

 

½+½ 

 

 

½+½ 
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               OR 

(B) 

(i) Transgenic animals : Animals that have had their DNA 

manipulated to possess and express an extra (foreign) gene are 

known as transgenic animals.  

 

(ii) Common reasons to produce transgenic animals are :  

-Normal physiology and development , Transgenic animals can be 

specifically designed to allow the study of how genes  are regulated and how 

they affect the normal functions of the body and its development. 

 

-Study of disease , Many transgenic animals are specially made to serve as 

models for human diseases so that investigation of new treatments for 

diseases is made possible. 

 

-Biological products , Transgenic animals that produce useful biological 

products can be created  

 

-Vaccine safety , Transgenic mice are being developed for use in testing the 

safety of vaccines before they are used on humans. 

 

-Chemical safety testing , Transgenic animals are made that carry genes 

which make them more sensitive to toxic substances than non-transgenic 

animals.                                                                                                              

                                                      (Any Four) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

½+½ 

 

 

 

½+½ 

 

 

 

½+½ 

 

 

 

½+½ 

 

 

 

½+½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 
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33 

 

 

(A) 

(i) 

-Tropical latitudes have remained relatively undisturbed for millions of years 

and thus had a long evolutionary time for species diversification 

 

-Tropical environments are less seasonal more constant and predictable. 

Such constant environments promote niche specialisation and lead to a 

greater species diversity 

 

-More solar energy is available in the tropics which contributes to higher 

productivity which leads to greater species diversity. 

(ii)  

 

 

 

   

- Alexander von Humboldt 

- Within a region species richness increased with increasing explored area 

but only up to a limit.                       

        OR 

(B)  

(i)  

-Habitat loss and fragmentation, Deforestation leads to habitat loss and 

ultimately causing extinction of animals and plants / When large habitats are 

broken into small fragments that also leads to population decline /  mammals 

and birds with large territories and certain animals with migratory habits are 

badly affected. 

- Overexploitation,  overexploitation of natural resources by humans leads 

to extinction of many species / For example overexploitation of Steller’s sea 

cow or passenger pigeon or many marine fishes led to their extinction.  

 

 

 

1 

 

1 

 

 

1 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

     ½  

 

½  

 

 

 

 

 

 

½ +½ 

 

 

 

½ +½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



XII_044_57/2/3 Biology # Page-12 

 

-Alien species invasions,  When alien species are introduced unintentionally 

or deliberately for whatever purpose some of them turn invasive and cause 

decline or extinction of indigenous species/ For example Parthenium or 

Lantana or water hyacinth pose threat to indigenous species ( or any other 

correct example) 

 

-Co-extinctions,  When a species becomes extinct the plant and animal 

species associated with it in an obligatory way also became extinct/ For 

example unique assemblage of parasites and plant pollinator mutualism 

where extinction of one invariably leads to the extinction of the other  

                                                   (any three points)  

(ii)  

- Ex-situ conservation : In this threatened animals and plants are taken out 

from their natural habitat and placed in special setting where they can be 

protected and given special care. 

- e.g. : Zoological parks, Botanical gardens, Wildlife safari parks, seed 

banks, pollen bank                (any two or any other relevant examples)  

 

 

½ +½ 

 

 

 

 

 

 

½ +½ 

 

 

 

 

 

 

1 

 

 

½ +½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 
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अंकन योजना 

कडाई से गोपनीय 

(केवल आंतरिक औि प्रततबंतित उपयोग के तलए) 

सीतनयि सू्कल सतटितिकेट पिीक्षा, 2025 

तवषय का नाम जीवतवज्ञान (तवषय कोड 044) (पेपि कोड 57/2/3) 

 

सामान्य तनरे्दश:- 

 

1 आप जानते हैं कि उम्मीदवार ों िे वास्तकवि और सही मूल्ाोंिन में मूल्ाोंिन सबसे महत्वपूर्ण 

प्रकिया है। मूल्ाोंिन में एि छ टी सी गलती गोंभीर समस्याएों  पैदा िर सिती है ज  उम्मीदवार ों िे 

भकवष्य, किक्षा प्रर्ाली और किक्षर् पेिे ि  प्रभाकवत िर सिती है। गलकतय ों से बचने िे कलए, यह 

अनुर ध किया जाता है कि मूल्ाोंिन िुरू िरने से पहले, आपि  स्पॉट मूल्ाोंिन कदिाकनदेि ों ि  

ध्यान से पढ़ना और समझना चाकहए। 

2 "मूल्ाोंिन नीकत एि ग पनीय नीकत है क् ोंकि यह आय कजत परीक्षाओों िी ग पनीयता, किए गए 

मूल्ाोंिन और िई अन्य पहलुओों से सोंबोंकधत है। किसी भी तरह से जनता ि  इसिा लीि ह ने से 

परीक्षा प्रर्ाली पटरी से उतर सिती है और लाख ों उम्मीदवार ों िे जीवन और भकवष्य ि  प्रभाकवत 

िर सिती है। इस नीकत/दस्तावेज ि  किसी ि  भी साझा िरना, किसी पकििा में प्रिाकित िरना 

और समाचार पि/वेबसाइट आकद में छपना ब र्ण और आईपीसी िे कवकभन्न कनयम ों िे तहत िारणवाई 

ि  आमोंकित िर सिता है। 

3 मूल्ाोंिन अोंिन य जना में कदए गए कनदेि ों िे अनुसार किया जाना है। यह किसी िी अपनी व्याख्या 

या किसी अन्य कवचार िे अनुसार नही ों किया जाना चाकहए। अोंिन य जना िा िडाई से पालन किया 

जाना चाकहए और धाकमणि रूप से पालन किया जाना चाकहए। तथाकप, मूल्ाोंिन िरते समय, ज  उत्तर 

नवीनतम सूचना या ज्ञान पर आधाररत हैं और/या नवाचारी हैं, उनिा मूल्ाोंिन उनिी िुद्धता िे 

कलए किया जा सिता है अन्यथा और उन्हें उकचत अोंि कदए जाएों । िक्षा-XII में, य ग्यता आधाररत द  

प्रश् ों िा मूल्ाोंिन िरते समय, िृपया कदए गए उत्तर ि  समझने िा प्रयास िरें  और यकद उत्तर 

अोंिन य जना से नही ों है लेकिन उम्मीदवार द्वारा सही य ग्यता िी गर्ना िी गई है, त  भी उकचत अोंि 

कदए जाने चाकहए।  

4 अोंिन य जना में उत्तर ों िे कलए िेवल सुझाए गए मूल् कबोंदु हैं 

ये िेवल कदिा-कनदेि ों िी प्रिृकत िे हैं और पूर्ण उत्तर नही ों हैं। छाि ों िी अपनी अकभव्यक्ति ह  

सिती है और यकद अकभव्यक्ति सही है, त  कनयत अोंि तदनुसार कदए जाने चाकहए। 

5 प्रधान परीक्षि ि  पहले कदन प्रते्यि मूल्ाोंिनिताण द्वारा मूल्ाोंिन िी गई पहली पाोंच उत्तर 

पुक्तस्तिाओों ि  पढ़ना चाकहए, ताकि यह सुकनकित किया जा सिे कि अोंिन य जना में कदए गए कनदेि ों 

िे अनुसार मूल्ाोंिन किया गया है। यकद ि ई कभन्नता है, त  कवचार-कवमिण और चचाण िे बाद िून्य 

ह ना चाकहए। मूल्ाोंिन िे कलए िेष उत्तर पुक्तस्तिाएों  िेवल यह सुकनकित िरने िे बाद दी जाएों गी कि 

व्यक्तिगत मूल्ाोंिनिताणओों िे अोंिन में ि ई महत्वपूर्ण कभन्नता नही ों है। 

6 मूल्ाोंिनिताण जहाों भी उत्तर सही है, वहाों (√) कचकित िरें गे। गलत उत्तर िे कलए CROSS 'X' अोंकित 

किया जाना चाकहए। मूल्ाोंिनिताण मूल्ाोंिन िरते समय सही (✓) नही ों र्ालेंगे, कजससे यह आभास 

ह ता है कि उत्तर सही है और ि ई अोंि नही ों कदया जाता है। यह सबसे आम गलती है ज  

मूल्ाोंिनिताण िर रहे हैं। 

7 यकद किसी प्रश् में भाग हैं, त  िृपया प्रते्यि भाग िे कलए दाईों ओर अोंि दें। प्रश् िे कवकभन्न भाग ों िे 

कलए कदए गए अोंि ों ि  तब िुल किया जाना चाकहए और बाएों  हाथ िे माकजणन में कलखा जाना चाकहए 

और घेर कलया जाना चाकहए। इसिा सख्ती से पालन किया जा सिता है। 

8 यकद किसी प्रश् में ि ई भाग नही ों है, त  अोंि बाएों  हाथ िे माकजणन में कदए जाने चाकहए और घेरा जाना 

चाकहए। इसिा सख्ती से पालन भी किया जा सिता है। 

9 यकद किसी छाि ने एि अकतररि प्रश् िा प्रयास किया है, त  अकधि अोंि िे य ग्य प्रश् िा उत्तर 

बरिरार रखा जाना चाकहए और दूसरे उत्तर ि  "अकतररि प्रश्" न ट िे साथ स्क र किया जाना 

चाकहए। 
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  10 िुकट िे सोंचयी प्रभाव िे कलए ि ई अोंि नही ों िाटा जाना चाकहए। इसे िेवल एि बार दों कर्त किया 

जाना चाकहए। 

  11 0-70 अोंि ों िे पूर्ण पैमाने िा उपय ग िरना ह गा। िृपया पूर्ण अोंि देने में सोंि च न िरें  यकद उत्तर 

इसिे य ग्य है। 

  12 प्रते्यि परीक्षि ि  आवश्यि रूप से पूरे िायण घोंट ों िे कलए मूल्ाोंिन िायण िरना ह ता है, अथाणत 

प्रकतकदन 8 घोंटे और मुख्य कवषय ों में प्रकतकदन 20 उत्तर पुक्तस्तिाओों और अन्य कवषय ों में प्रकतकदन 25 

उत्तर पुक्तस्तिाओों िा मूल्ाोंिन िरना ह ता है (कववरर् स्पॉट कदिाकनदेि ों में कदए गए हैं)। 

  13 सुकनकित िरें  कि आप अतीत में परीक्षि द्वारा िी गई कनम्नकलक्तखत सामान्य प्रिार िी िुकटयाों नही ों 

िरते हैं: - 

● उत्तर पुक्तस्तिा में उत्तर या उसिे भाग िा मूल्ाोंिन किए कबना छ डना। 

● किसी उत्तर िे कलए कदए गए अोंि से अकधि अोंि देना। 

● किसी उत्तर पर कदए गए अोंि ों िा गलत य ग । 

● उत्तर पुक्तस्तिा िे अोंदर िे पन्न ों से िीषणि पृष्ठ पर अोंि ों िा गलत स्थानाोंतरर्। 

● िीषणि पृष्ठ पर गलत प्रश् िे अनुसार ट टल। 

● िीषणि पृष्ठ पर द  स्तोंभ ों िे अोंि ों िा गलत य ग। 

● गलत भव्य िुल। 

● िब् ों और आोंिड ों में अोंि मेल नही ों खाते/समान नही ों ह ते हैं। 

● उत्तर पुक्तस्तिा से अोंि ों िा ऑनलाइन पुरस्कार सूची में गलत स्थानाोंतरर्। 

● उत्तर ों ि  सही िे रूप में कचकित किया गया है, लेकिन अोंि नही ों कदए गए हैं। (सुकनकित 

िरें  कि सही कटि मािण  सही और स्पष्ट रूप से इोंकगत किया गया है। यह िेवल एि 

पोंक्ति ह नी चाकहए। गलत उत्तर िे कलए एक्स िे साथ भी ऐसा ही है। 

● उत्तर िा आधा या एि कहस्सा सही और बािी गलत िे रूप में कचकित किया गया था, 

लेकिन ि ई अोंि नही ों कदया गया था।  

 14 उत्तर पुक्तस्तिाओों िा मूल्ाोंिन िरते समय यकद उत्तर पूरी तरह से गलत पाया जाता है, त  इसे िॉस 

(X) िे रूप में कचकित किया जाना चाकहए और िून्य (0) अोंि कदए जाने चाकहए। 

 15 ि ई भी गैर-मूल्ाोंिन भाग, िीषणि पृष्ठ पर अोंि ों ि  न ले जाना, या उम्मीदवार द्वारा पता लगाई गई 

िुल िुकट मूल्ाोंिन िायण में लगे सभी िकमणय ों िे साथ-साथ ब र्ण िी प्रकतष्ठा ि  भी नुिसान 

पहोंचाएगी। इसकलए, सभी सोंबोंकधत ों िी प्रकतष्ठा ि  बनाए रखने िे कलए, यह किर से द हराया जाता है 

कि कनदेि ों िा सावधानीपूवणि और कववेिपूर्ण तरीिे से पालन किया जाए। 

  16 परीक्षि ों ि  वास्तकवि मूल्ाोंिन िुरू िरने से पहले "स्पॉट मूल्ाोंिन िे कलए कदिाकनदेि" में कदए 

गए कदिाकनदेि ों से पररकचत ह ना चाकहए। 

  17 प्रते्यि परीक्षि यह भी सुकनकित िरेगा कि सभी उत्तर ों िा मूल्ाोंिन किया गया है, अोंि ों ि  िीषणि 

पृष्ठ पर ले जाया गया है, सही ढोंग से ट टल किया गया है और आोंिड ों और िब् ों में कलखा गया है। 

  18 उम्मीदवार कनधाणररत प्र सेकसोंग िुल्क िे भुगतान पर अनुर ध पर उत्तर पुक्तस्तिा िी ि ट िॉपी प्राप्त 

िरने िे हिदार हैं। सभी परीक्षि ों/अपर मुख्य परीक्षि ों/मुख्य परीक्षि ों ि  एि बार किर याद 

कदलाया जाता है कि वे यह सुकनकित िरें  कि मूल्ाोंिन प्रते्यि उत्तर िे कलए अोंि य जना में कदए गए 

मूल् कबोंदुओों िे अनुसार सख्ती से किया जाता है। 
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अंकन योजना 

उच्चति माध्यममक मिद्यालय परीक्षा, 2025 

जीि मिज्ञान (मिषय कोड-044) 

[पेपर कोड: 57/2/3] 

     अमिकतम अंक: 70 

प्रश्न 

संख्या . 
अपेवित उत्तर / मूल्य अंक 

अंक कुल 

अंक 

 
खण्ड- क 

  

1 (D) / स्वयुग्मन ि  परनु्त सजातपुष्पी परागर् ि  नही ं 1 1 

2 (D) / I-शुक्राणुजन, II- कद्वतीयि िुिारु्ि कििा, III- िुिारु्प्रसू, IV-शुक्राणु 1 1 

3 (B) / (iii), (i), (ii), (iv) 1 1 

4 (B) / फ्ांवसस वक्रक 1 1 

5 (D) / 7,8 1 1 

6 (B) / (ii) और (iii) 1 1 

7 (D) / (a)-(i), (b)-(iii), (c)-(ii) 1 1 

8 (C) / वपता IBi, माता IAIB, बालक- IAi 1 1 

9 (B) / प्रकतरक्षी िा ह्रास // (D) / प्रकतजन ों  िी सोंख्या में वृद्धि 1 1 

10 (B)  /   0:1:3 1 1 

11 (D) /   प्लाद्धिड डीएनए इसिे साथ जुडे डीएनए के स्थानाोंतरर् हेतु सोंवाहि िा कार्य करता है। 1 1 

12 (A) / एस्परकजलस नाइगर 1 1 

13 (A) / दोनो ं(A) और (R) सत्य हैं, और (R) (A) की सही व्याख्या है। 1 1 

14 (C) / (A) सत्य है, लेवकन (R) गलत है। 1 1 

15 (A) / दोनो ं(A) और (R) सत्य हैं, और (R) (A) की सही व्याख्या है। 1 1 

16 (C) / (A) सत्य है, लेवकन (R) गलत है। 1 1 

 खण्ड  ख   

17 (A) 

- वैवलसनेररर्ा- मादा फूल पानी की सतह पर पहंच जाती है और नर फूल र्ा पराग 

कण पानी की सतह पर वनकल जाते हैं। 

- जोसे्टरा- मादा फूल पानी में डूबे रहते हैं और पराग कण पानी के अंदर वनकलते हैं। 

 

अथवा 

     

 

 

 

1 

 

 

1 
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(B) 

पराग ररलीज और ववतयकाग्र ग्रहणशीलता वसंक्रनाइज नही ंहैं, परागकोश और 

ववतयकाग्र को ववविन्न द्धिवतर्ो ंमें रखा गर्ा है, आत्म असंगवत, एिकलोंगी फूलो ंका 

उत्पादन 

 

 

½  x4 

 

 

 

 

2 

18 (a) आलोंगी-ि म स म पर-अप्रभावी कविेषि  

सामान्य वाहक माता-वपता / ववषमरु्ग्मजी व्यद्धि, दोषपूणय जीन को पुरुष और मवहला दोनो ं

संतवत उत्पादक प्रिाववत व्यद्धिर्ो ंर्ा समरु्ग्मजी पुनरावती व्यद्धिर्ो ंमें िानांतररत करते हैं                  

// 

 

(b) दाि ि कििा -अरिता (कसिल सेल एकनकमया) / वसद्धस्टक फाइब्रोवसस / िीनाइल 

िीट नू्यररया / थैलेसीवमर्ा / र्ा कोई अन्य उदाहरण                             (कोई भी एक) 

 

½ 
 

½+ ½ 
 
 
 
 
 
 
 
 

 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

 

 

19 

(A) 

-सपयदंश के मामले में, त्वररत प्रवतवक्रर्ा की आवश्यकता होती है क्ोवंक प्रकतरक्षी के 

प्राकृवतक उत्पादन में अविक समर् लगेगा इसवलए सांप के जहर के द्धखलाफ 

पूवयवनवमयत प्रकतरक्षी इंजेक्ट वकए जाते हैं।    

-टेटनस में, पूवयवनवमयत प्रकतरक्षी को सीिे इंजेक्ट वकर्ा जाता है क्ोवंक घातक 

रोगाणुओ ंके द्धखलाफ त्वररत प्रवतरिा प्रवतवक्रर्ा की आवश्यकता होती है।  

                                                                    (या कोई अन्य प्रासंमिक उदाहरण)  

                                                  अथवा 

(B)  

लिण तुरंत प्रकट नही ंहोते हैं क्ोवंक परजीवी शुरू में र्कृत कोवशकाओ ंके िीतर गुणा 

करते हैं, और वफर आरबीसी पर हमला करते हैं, वजसके पररणामस्वरूप लाल रि 

िकर्िाओों िे िटने िे साथ ही, एि अकवषालु (टॉक्तक्सि) पदाथण हीम ज इन कनिलता है 

 

 

 

½+ ½ 

 

 

 

½+ ½ 

 

 

 

 

 

 

 

 

½x4 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

 

 

20 

 

(a)  जीवाणु थमणस एक्वाकटिस 

 

(b)  र्ह पीसीआर की कनक्तियिरर् प्रवक्रर्ा के दौरान उच्च तापमान में सवक्रर् रहता है 

 

1 

 

1 

 

 

2 

21 अविक प्रजावतर्ो ंवाले िूखंडो ंने कुल बार्ोमास में साल-दर-साल विन्नता साझा की, 

बढी हई वववविता वाले िूखंडो ंने उच्च उत्पादकता में र्ोगदान वदर्ा 

 

1+1 
 

 

 

 

    2 
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 खण्ड – ग   

 

22. 
(a) तााँबा म चि आईरू्डी तांबे के आर्न छोडते हैं जो शुक्राणु गवतशीलता को दबाते हैं, 

शुक्राणुओ ंकी वनषेचन िमता को दबाते हैं, शुक्राणुओ ंके भक्षिारु्किया को बढाते  हैं  

                                                                                                             (कोई भी दो) 

                                                                                                             

(b) मुाँह द्वारा गोवलर्ां ली जाती हैं ज  अोंर् त्सजणन और आरोपण को रोकती हैं / र्ह 

शुक्राणुओ ंके प्रवेश को रोकने र्ा मंद करने के वलए गिायशर् ग्रीवा बलगम की गुणवत्ता 

को बदल देती है।  

 
 

1+1 
 

 

 
 

1 

 

 

 

 

 

 

 

 

3 

23  
(a) 3200 पुरुष  रु्ग्मक 

 

(b) 

- सेलू्यलोज ,और पेद्धक्टन से बना अोंतः च ल. 

- स्पोरोपोलेवनन से बना बाह्यच ल  

 

1 

 

 

 

½+ ½ 

     1 

 

 

 

 

 

3 

 

 

24 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

(नामांकन के साथ सही आरेख या मिचार मकए जाने िाले आरेख के साथ सही स्पष्टीकरण) 

 
 

 

 

 

 

 

 

 

 

½ × 6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 
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25 

 
 

// 

 
 

 

½+ ½ 

 

 
 

½ 
 

 

1 

 

½ 

 

 

 

 

½+ ½ 

 

 

 

½ 

 

 

1 

 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

 

 

26 

 

 

 

(a) द्धखलाडी खेलो ंमें बेहतर प्रदशयन के वलए अपनी मांसपेवशर्ो ंकी ताकत और 

आक्रामकता बढाने के वलए कुछ दवाओ ंका दुरुपर्ोग करते हैं। 

  

(b) कोकीन/कोका एल्कलॉइड, कैनवबनोइड्स, कोई अन्य सही उदाहरण 

                                                                                                            (कोई दो) 

  

(c) एररथ्रोद्धिलम, कैनवबस , कोई अन्य सही उदाहरण 

                                                                                                                  (कोई दो) 

 

1 

 

 

½+ ½ 

 

 

 

½+ ½ 

 

 

 

 

 

 

 

 

 

3 

 

27 

 
(a)  िाई 1 एबी  (Cry1Ab) 

 

(b)  जब वनद्धिर् प्रोटोद्धिन को कीट द्वारा वनगला जाता है, तो र्ह आंत में िारीर् पीएच द्वारा 

अपने सवक्रर् रूप में पररववतयत हो जाता है जो है जो वक्रस्टल को घुलनशील करता है, ववष का 

सवक्रर् रूप आंत उपकला कोवशकाओ ंकी सतह से बांिता है, वछद्र बनाता है जो कोवशका सूजन 

से िट जाता है  और अंततः  कीट की मृतु्य का कारण बनता है। 

 
 

1 

 

 

 

½ x4 

 

 

 

 

 

 

 

 

3 
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28 

(a)        -'x' कीट है  

      -'y' मोलस्क है  

 

(b)       -'x' सवायविक समृि प्रजावत ववगयकी समूह है  

              -कुल जानवरो ंका 70% से अविक। 

  

(c) 

(i) पाररद्धिवतक वववविता  

      (ii)) आनुवंवशक वववविता 

 

½ +½ 

 

 

½ +½ 

 

 

 

 

½ +½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

3 

 खण्ड-घ   

29 

 

 

(a)   बी-वलम्फोसाइट्स और टी-वलम्फोसाइट्स।  

(b)   क्ोवंक प्रकतरक्षी रि में पाए जाते हैं इसवलए प्रकतरक्षी-मध्यिता प्रवतरिा को तरल 

प्रवतरिा प्रवतवक्रर्ा िी कहा जाता है।  

(c)   

(i) हमारी प्रवतरिा प्रणाली 'स्व' और 'गैर-स्व' कोवशकाओ/ंअणुओ ंके बीच अंतर करने 

में सिम है।  

(ii) ि कििा -मध्यिता प्रवतरिा प्रवतवक्रर्ा, टी-वलम्फोसाइट्स शावमल हैं। 

                                                        अथवा  

(d) 

समिय प्रमतरक्षा मनष्क्रिय प्रमतरक्षा 

जब प्रकतरक्षी कोवशकाओ ंद्वारा 

वनवमयत होते हैं शरीर के िीतर 

पूवयवनवमयत प्रकतरक्षी शरीर में 

इंजेक्ट वकर्ा जाता है   

र्ह तुलनात्मक रूप से िीमा है र्ह त्वररत प्रवतवक्रर्ा प्रदान करता 

है   

  

½ +½ 

 

1 

 

 

 

1 

 

 

½+ ½ 
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30 (a)  डीएनए-वनियर आरएनए पोलीमरेज 

  

(b)  B-कोवडंग रजु्जि, A-टेम्पे्लट रजु्जि 

 

(c)  

   - सी प्रमोटर है, र्ह डीएनए का अनुक्रम है जहां एंजाइम डीएनए वनियर आरएनए 

पोलीमरेज प्रवतलेखन की दीिा के वलए बांिता है। 

1 

 

 

½+ ½ 

 

 

½+ ½ 
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- डी टवमयनेटर है, र्ह डीएनए का अनुक्रम है जहां प्रवतलेखन की प्रवक्रर्ा समाप्त हो जाती 

है। 

  

 अथवा 

 (d)  

- C  कोवडंग रजु्जि के 5 छोर (ऊपर की ओर) की ओर द्धित है 

- D  कोवडंग रजु्जि के 3 छोर (डाउनस्टर ीम) की ओर द्धित है 

½+ ½ 

 

 

 

 

1 

 

1 

 

 

 

 

 

 

 

 

 

   4 

 खण्ड ङ   

 

 

 

31 

 

 

 

 

 

(A) 

 
   

(अण्डजनन के सही योजनाबद्ध तनरूपण के तलए 1 अंक तर्दया जाएगा, प्रते्यक चिण पि 

गुणसूत्ो ंकी सही संख्या के तलए ½ अंक तथा प्रतिया के सही चिणो ंके साथ व्यक्ति के 

जीवन के प्रते्यक चिण के तलए ½ अंक तर्दया जाएगा।) 

                        

 
 
 
 
1 
 
 
 
 
 

½ × 4 

 

 

 

 

 

 

 

 

 

 

 

 

½ x4 
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अथवा 

( B )  

( i )  

स्वयुग्मन - परागकोश से पराग कणो ंके एक ही फूल के ववतयकाग्र में िानांतरण को 

संदवियत करता है। 

सजातपुष्पी पिागण - फूल के परागकोश से पराग कणो ंके हस्ांतरण को उसी पौिे 

के दूसरे फूल के कलंक तक संदवियत करता है। 

पितनषेचन  - एक ही प्रजावत के एक अलग पौिे पर एक फूल के परागकोश से दूसरे 

फूल के कलंक तक पराग कणो ंके हस्ांतरण को संदवियत करता है 

 

 

(ii) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

1 

 

1 

 

 

 

 

 

 

 

 

 

½ x4 
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32 
(A) 

(i) जीवाणु कोवशकाओ ंको कैद्धशशर्म जैसे वद्वसंर्ोजक िनार्न की वववशष्ट सांद्रता के 

साथ उपचार करके सिम बनार्ा जाता है, जो उस दिता को बढाता है वजसके साथ 

डीएनए अपनी कोवशका विवत्त में वछद्रो ंके माध्यम से कोवशका में प्रवेश करता है।   

 (ii)   

-ववकृतीकरण , डीएनए को उच्च तापमान पर गमय वकर्ा जाता है वजसके 

पररणामस्वरूप डीएनए के दो वकिें अलग हो जाती हैं 

- तापानुिीलन , दो प्राइमरो ंको एकल- रजु्जि टेम्पलेट डीएनए में से प्रते्यक के वलए 

तापानुिीलन वकर्ा जाता है।  

 

 

 

 

1+1 

 

 

 

½+½ 

 

 

½+½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



XII_044_57/2/3 जीव ववज्ञान # पृष्ठ-10 

 

- प्रसार, एंजाइम टाक पोलीमरेज प्रवतवक्रर्ा में प्रदान वकए गए नू्यद्धिर्ोटाइड और 

टेम्पलेट के रूप में जीनोवमक डीएनए का उपर्ोग करके प्राइमरो ंका ववस्ार करता 

है। 

// 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

              अथवा 

(B) 

(i) पारजीवी जोंतु: वजन जनु्तओ ने अपने डीएनए को एक अवतररि (ववदेशी) 

जीन रखने और व्यि करने के वलए हेरफेर वकर्ा है, उन्हें पारजीवी जोंतु 

के रूप में जाना जाता है।  

  

(ii) पारजीवी जनु्तओ का उत्पादन करने के सामान्य कारण हैं:  

सामान्य शिीि तिया व तवकास , पारजीवी जनु्तओ को ववशेष रूप से जीन को कैसे 

वववनर्वमत वकर्ा जाता है और वे शरीर के सामान्य कार्ों और इसके ववकास को कैसे 

प्रिाववत करते हैं, इसके अध्यर्न की अनुमवत देने के वलए वडजाइन वकर्ा जा सकता 

है। 

 

-रोि का अध्ययन, कई पारजीवी जनु्तओ को ववशेष रूप से मानव रोगो ंके वलए 

मॉडल के रूप में सेवा करने के वलए बनार्ा जाता है तावक बीमाररर्ो ंके वलए नए 

उपचार की जांच संिव हो सके। 

 

-जैमिक उत्पाद, पारजीवी जोंतु जो उपर्ोगी जैववक उत्पादो ंका उत्पादन करते हैं, 

बनाए जा सकते हैं  

  

-िैक्सीन सुरक्षा, पारजीवी चूहो ंको मनुष्ो ंपर उपर्ोग करने से पहले टीको ंकी 

सुरिा के परीिण में उपर्ोग के वलए ववकवसत वकर्ा जा रहा है। 

 

½+½ 
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½+½ 

 

 

 

 

½+½ 
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-रासायमनक सुरक्षा परीक्षण, पारजीवी जनु्तओ को बनार्ा जाता है जो जीन ले जाते 

हैं जो उन्हें गैर-पारजीवी जनु्तओ की तुलना में ववषाि पदाथों के प्रवत अविक 

संवेदनशील बनाते हैं।                                                                                                              
                                                    

(कोई चार) 

 

½+½ 

 

 

 

 

5 

33 

 

 

(A) 

(i) 

-उष्णकवटबंिीर् अिांश लाखो ंवषों से अपेिाकृत अबावित रहे हैं और इस प्रकार 

प्रजावतर्ो ंके वववविीकरण के वलए एक लंबा ववकासवादी समर् था 

 

-उष्णकवटबंिीर् वातावरण कम मौसमी अविक द्धिर और अनुमावनत होते हैं। इस 

तरह के वनरंतर वातावरण कनिेत ववशेषज्ञता को बढावा देते हैं और अविक प्रजावतर्ो ं

की वववविता की ओर ले जाते हैं 

 

-उष्णकवटबंिीर् में अविक सौर ऊजाय उपलब्ध है जो उच्च उत्पादकता में र्ोगदान 

देती है वजससे प्रजावतर्ो ंकी वववविता अविक होती है। 

  

 

(ii) 

 

 

   

- अलेक्जेंडर वॉन हम्बोल्ट 

- एक िेत्र के िीतर प्रजावतर्ो ंकी समृद्धि बढते िेत्र के साथ बढी लेवकन केवल एक 

सीमा तक।                       

       

अथवा 

 

 

 

 

 

1 

 

 

1 

 

 

1 
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½ 
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(B)  

(i)  

- आवासीय हामन और मिखंडन, वनो ंकी कटाई से वनवास िान का नुकसान होता 

है और अंततः  जनु्तओ और पौिो ंके ववलुप्त होने का कारण बनता है / जब बडे 

आवास छोटे टुकडो ंमें टूट जाते हैं वजससे जनसंख्या में िी वगरावट आती है / बडे 

िेत्रो ंवाले स्निारी और पिी और प्रवासी आदतो ंवाले कुछ जोंतु बुरी तरह प्रिाववत 

होते हैं। 

 

- मनुष्ो ंद्वारा प्राकृमतक संसािनो ंका अत्यमिक दोहन, कई प्रजावतर्ो ंके ववलुप्त 

होने की ओर जाता है / उदाहरण के वलए से्टलर की समुद्री गार् र्ा र्ात्री कबूतर र्ा 

कई समुद्री मछवलर्ो ंके अत्यविक दोहन के कारण उनका ववलुप्त हो गर्ा।  

 

-मिदेशी प्रजामतयो ंके आिमण, जब ववदेशी प्रजावतर्ो ंको अनजाने में र्ा 

जानबूझकर वकसी िी उदे्दश्य के वलए पेश वकर्ा जाता है तो उनमें से कुछ आक्रामक 

हो जाते हैं और स्वदेशी प्रजावतर्ो ंके पतन र्ा ववलुप्त होने का कारण बनते हैं / 

उदाहरण के वलए पाथेवनर्म  र्ा लैंटाना  र्ा हायकसोंथ (आइिाकनणया)स्वदेशी प्रजावतर्ो ं

के वलए खतरा पैदा करती है र्ा कोई अन्य सही उदाहरण 

 

-सह-मिलुष्क्रि, जब कोई प्रजावत ववलुप्त हो जाती है तो अवनवार्य तरीके से उससे जुडे 

पौिे और जनु्तओ की प्रजावतर्ां िी ववलुप्त हो जाती हैं / उदाहरण के वलए परजीववर्ो ं

और पौिो ंके परागणकताय पारस्पररकता का अनूठा संर्ोजन जहां एक का ववलुप्त 

होना हमेशा दूसरे के ववलुप्त होने की ओर जाता है  

                                                   (कोई तीन अंक)  

(ii)  

- बाह्य स् थाने संरिण: इसमें संकटापन् प जंतुओ ंएवं पादपो ंको उनके प्राकृवतक 

आवास से वनकालकर ववशेष स् थान में रखा जाता है जहां उन् हें संरवित वकर्ा 

जा सकता है और ववशेष देखिाल की जा सकती है। 

- जैसे: प्राणी उद्यान, वनस्पवत उद्यान, वन्यजीव सफारी पाकय , बीज बैंक, पराग बैंक                  

(कोई भी दो या कोई अन्य प्रासंमिक उदाहरण)  
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